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SA UAEX D
B 30l #E Ho| £O
el el X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOl 19,696 19,696
18 SIS0t 4 A AS A 19,696 19,696
O XM FUSEZIEALE 29
19,696,000 * 14 19,696
405 AtatsE = 9,680 14,160 4,480
01 L ESFISHI 9,680 14,160 A4,480
O PUtYARE =tol oe)| 2l
880,000 »11CH 9,680
IIEZAHSEARHC dHl K& 44,209 42,974 1,235
= 44,209
201 ger= 3| 44,209 42,974 1,235
= 44,209
01 AtR2telbl 44,209 42,974 1,235
O =2 G228 2dHI(8Y)
44,209,000 * 14 44,209
= 44,209
SEXQ EXFE 22 3,382,822 2,235,259 1,147,563
= 589,868
= 73,746
= 2,719,208
FoEo &y 18 2,786,954 1,648,442 1,138,512
= 490,266
< 60,000
s 2,236,688
ANHSE & =& gpae] 54,137 82,677 A28,540
201 er23 | 24,137 30,577 26,440
01 At2teltl 24,137 30,577 26,440
O 2584l 223 72
950,000 23 1,900
O SHZEHl Z28(AutoCAD) AHEZ
540,000 +44] 2,160
O =gt 223 72
750,000 x15 750
O NEEII=E f822|
11,0002 %1,7578 19,327
207 ARl 30,000 30,100 A100
02 MAHHEHH] 30,000 30,100 A100
O NHEEEZM BH
8,000& *3, 7500H 30,000
MIHIZSKIH 2 E B & 31,240 30,800 440
201 el 31,240 30,800 440
01 At2teltl 31,240 30,800 440
O NHIIZE MASKAH Tt
78,1002 4008 31,240
MIHS XAzt EH &) 100,000 0 100,000




SA UAEX D
M a8 EXFEE 22
©Hel: e XHHE 73 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 30,000
s 70,000
201 er23| 100,000 0 100,000
= 30,000
= 70,000
01 At2teltl 100,000 0 100,000
O XX MASXAH ztags =8
100,000,000 *14] 100,000
=S 30,000
s 70,000
SSUSESRAAEKRAS) NXCH & HE5E FH 209,000 0 209,000
= 100,000
= 30,000
o 79,000
201 fer= 3| 209,000 0 209,000
= 100,000
= 30,000
Ea 79,000
01 AtR2t2|HI 209,000 0 209,000
O 212 DISEEXN FHIAY
104,000, 0003 * 14! 104,000
= 50,000
= 15,000
o 39,000
O 9EXAE Fdl & 22HA 75
105,000, 0003 * 14! 105,000
= 50,000
= 15,000
Ea 40,000
EX SE$IFEY 2c 31,337 31,337
201 fer=3| 31,337 31,337
01 AtR2t2|HI 31,337 31,337
O SSUEESRAAH HHEE 2535} S/
W =X 173,800« 12& 2,086
O RSUEFSRAAY J4t S2HEE SM
SN2 770,0003* 122 9,240
O EXSEEEY A RAES 20,011
- ot=RIN 168,300,000 8% 13,464
- AZEN 77,013,000 8. 5% 6,547
KETHEALALE =& 1,970,974 1,012,697 958,277
201 er23 | 178,39% 43,693 134,702
01 At2teltl 173,3% 32,733 140,662
O NEMZANEY E2=2S 1Y
5,000 2, 00004 10,000

_5_




£A: BIRAEXID
M SEXHQ EXEE 22
&2l F0Eo XNHHE 28 (CH9: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O NEMEAMZ2ZX TR &H &
500,000 *574 2,500
O NEMWEA FHEHIIRE EALY
100,000 x5 H 43 2,000
O XETHEAIRIR S| EaG
100,000& x4 H *43] 1,600
O KNEMZEAL Mo A2F 2
200,000 *1E 200
O XNEMEAL 2N 28 A28 7
200,000& *13] 200
O XEMEAL J|&E O]
33,0002 *370& 12,210
O NEMZA ZH2 2 248
260,0002 81 21,060
O '2249 XNETHZAKIT? EEXSX 7 FH|
100, 100& #5052 5,005
O 'BE XNEMWEAL ZHS 2FEI42
45,0002 * 1,300 X[*2IH 2 117,000
O SHFHl T2 (AutoCAD) AHEZ
540,000 3 34! 1,620
02 33244l 5,000 10,960 5,960
NETHEAIANEY STE BEI
5,000,000 * 14! 5,000
301 LetEHZ 1,792,579 969,004 823,575
14 JIEt2 43 1,792,579 969,004 823,575
O "21~'223 XEMMEAL SE=
194,758,970 14 194,759
O '248 XNEMEAMN 8= K2
797,819,520 * 14 797,820
O '8 XNEMHEZAL &2 X2
800,000,000& » 14! 800,000
INESPUEAYNINRSESRS| 390,266 522,268 A132,002
= 390,266
201 L2 | 34,966 44,745 A9, 779
= 34,966
01 Ar22eltl 28,966 38,745 A9, 779
O KNIETHEALAIE AtHI 28,966
- N&EMETZAL |8 2=H|
16,382,000 14| 16,382
= 16,382
- IMTUEAL ZRE} 242
12,584,000 & * 14! 12,584
= 12,584
02 E324Hl 6,000 6,000 0
NETHEAANY STHE YES
6,000,000& 14 6,000
= 6,000




SA UAEX D
M 280 EXNEE 22
el FUEo XHME P (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOl 365,300 477,523 N122,223
= 365,300
13 SI[2S0He & EAS A 365,300 477,523 N122,223
O NEWEA S22t
355,300,000& *14] 365,300
= 365,300
SSitte] 310,710 330,353 19,643
= 99,602
[Ea 211,108
HE SAIRIDOE AL 291,850 275,598 16,252
= 99,602
s 192,248
101 @124H| 92,000 83,000 9,000
= 40,000
= 52,000
03 SRH(RINHA) 222+ 92,000 83,000 9,000
O HESAIXIDE ZAF Q1244|
92,000,000 *14] 92,000
= 40,000
s 52,000
201 2= 189,290 182,833 6,457
= 59,602
= 129,688
01 At2t2ltl 189,290 182,833 6,457
O HESAIXIL AL R HbE ARZ 2
5,000,000& 14 5,000
O HESAIXIL 2 S0, 22k H%
90,0003 *17 I 2:%42] 6,120
O BESIIAESAIRER =&
100,000 x10E <22] 2,000
O HESAXIt d&+=+=2 176,170
- MK BEer=
45,8002 %303, 7202 X|*1.25% 173,880
= 59,602
o 114,278
- 0I2AIEXIOL B2
45,8002 x1002! K| *50% 2,290
04 HSRESS 10,560 9,765 795
04 SR (RIHA)22N BEERES S 10,560 9,765 795
O HESAIXIIt SRA AHLE (AR
10,560,000 * 14 10,560
sS4 Al &l 1,000 2,000 21,000
301 EetE NS 1,000 2,000 21,000
14 0Bt 2a3 1,000 2,000 21,000
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SA UAEX D
Hu: 5N EXFE 22
ol E2Y H HAEHS R0 2L EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S UHEA 7E U FAFDIRE A
cl 49,059,000 x 14 49,059
FAZEEAEE EX € RAES 52,000 57,000 /5,000
401 AIEHIX R0 52,000 57,000 /5,000
01 A28l 52,000 57,000 25,000
O FAZEEANE RXES 52,000
- 28 |2 260,000 200K 52,000
=AHBAEE X 2 RXE(EHI) 43,800 0 43,800
= 13,746
= 30,054
201 er23| 39,800 0 39,800
= 9,746
Ea 30,04
01 AtR2t2|HI 39,800 0 39,800
O ASHSE FHl At 29,800
-2 USHSE LA
1,800 *3,500H4 6,300
- dSHS T i 9,400 *2,500H 23,500
= 6,746
= 16,754
O =N EHS & LREA & T2
10,000,000 * 14 10,000
=S 3,000
s 7,000
401 Al HIZL S 0HYI 4,000 0 4,000
< 4,000
01 AlZ2H| 4,000 0 4,000
O FAZEANE RXES 4,000
-2 2952 AlEE 4
1,600,000 *14] 1,600
< 1,600
- 2] 2952 AIEdE !X
2,400,000& *14] 2,400
S 2,400
S22 55,772 59,736 A3,964
SHEE Sgacl = 55,772 59,736 A3,964
201 et 3| 55,772 59,736 A3,964
01 AtR2tc|Hl 85,272 0 85,272
O XotAE=28E SE2cANAE K2+ 37,761
- ot=RIN 210,362, 7402 *8% 16,830
- AZE0 174,417 5002 *12% 20,931
O SUEESHAAE SANES
8,980,000 *15CH*13% 17,511
02 s3=gbl 500 59,736 N59,236




S DIRE
S

LR igqg EXFE 22
el SAHFE AL (Gt H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
||| O cetiazagaz 500,00084 % 1CH 500
BHS YA (UAEXD) 52,152 62,980 210,828
|=2ZHI(BIREXI D 52,152 62,980 A10,828
D12 (U HEXI D 22,800 23,920 A1,120
201 Yt2o| 18,000 19,000 1,000
NIEEET 8,000 19,000 21,000
O RASYHI(EA) 18,000,002 8,000
203 YREAY| 4,800 4,920 A120
04 ENSYHREAY| 4,800 4,920 A120
O RASYYRET (FA0Y)
4,800,000 4,800
PICETTCTEEEE) 6,720 9,984 13,264
201 Yer2 Y| 4,800 6,144 A1,344
01 Ak 22|t 4,800 6,144 A1,344
O YBIRIRE ARFX Z|
4,800,0002! 4,800
202 01t 1,920 3,840 A1,920
01 2UH oA 1,920 3,840 £1,920
O 72 2Uuoit| 1,920,002 1,920
JI=2ZHI(RN=E) 7,416 7,2% 180
201 Yer2 Y| 3,456 3,456
01 Ak 22|t 3,456 3,456
O XXNE g2 3zl
3,456,0002 3,456
202 04| 3,960 3,780 180
01 U oI 3,960 3,780 180
O 712 2U0it| 3,960,000 3,960
PIEETTET=INSEIE 7,176 7,920 AT44
201 Yst2oy| 5,376 5,280 %
01 Ak22t2|t] 5,376 5,280 %
O 2sazely 42 22|
5,376,000 5,376
202 04| 1,800 2,640 840
01 U oI 1,800 2,640 840
O JI2 =2uoit| 1,800,0002! 1,800
PICETIEVEIN=)) 8,040 9,120 1,080
201 Yt2| 3,360 4,320 960
01 Ak 2te|t] 3,360 4,320 960
O NRMEAE 28 22|
3,360,000 3,360
202 01t 4,680 4,800 A120
NETE 4,680 4,800 A120
O 22 =2Uoit| 4,680,0002! 4,680

_10_
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